SOL 2.21 Additional Teacher Notes 


	What is the problem asking?

UNKNOWN
	Addition Problems

JOIN
	Subtraction Problems

SEPARATE

	Result Unknown
	   6 +  4 =   SHAPE  \* MERGEFORMAT 


  
	   9  -  2 =   SHAPE  \* MERGEFORMAT 


  

	Change Unknown
	   6  +  SHAPE  \* MERGEFORMAT 


  =  10
	   9  -  SHAPE  \* MERGEFORMAT 


  = 7    

	Start  Unknown
	   SHAPE  \* MERGEFORMAT 


  + 4  =  10   
	    SHAPE  \* MERGEFORMAT 


  - 2  =  7  


Addition – Result Unknown

There were 6 yellow candles on Marty’s cake.  She put 4 pink candles on the same cake.  How many candles are on her cake? 
[image: image7.wmf]Addition – Change Unknown

Marty has 10 candles on her cake.  Six of her candles are yellow.  The rest of her candles are pink.  How many pink candles are on Marty’s cake?  

Addition – Start Unknown

Marty has some yellow candles on her cake.  When she places 4 pink candles on her cake she has a total of 10 candles.  How many yellow candles are on Marty’s cake?  
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Subtraction – Result Unknown

Karl had 9 seashells.  He gave his sister 2 seashells.  How many seashells did Karl keep?

Subtraction – Change Unknown

Karl had 9 seashells.  After he gave his sister some seashells, he still had 7 seashells left.  How may seashells did he give his sister?  

Subtraction  – Start Unknown

Karl had some seashells.  He gave 2 of them away and still had 7 seashells left.  How many seashells did Karl have before he gave some of them away?    
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Which word problem matches this number sentence?                6 +         =  10  
A. There were 6 yellow candles on Marty’s cake.  She put 4 pink candles on the same cake.  How many candles are on her cake? 
B. Marty has 10 candles on her cake.  Six of her candles are yellow.  The rest of her candles are pink.  How many pink candles are on Marty’s cake?  

C. Marty has some yellow candles on her cake.  When she places 4 pink candles on her cake she has a total of 10 candles.  How many yellow candles are on Marty’s cake? 

Which word problem matches this number sentence?                              - 2  =  7  
A. Karl had 9 seashells.  He gave his sister 2 seashells.  How many seashells did Karl keep?

B. Karl had 9 seashells.  After he gave his sister some seashells, he still had 7 seashells left.  How many seashells did he give his sister?  

C. Karl had some seashells.  He gave 2 of them away and still had 7 seashells left.  How many seashells did Karl have before he gave some of them away?    

Which number sentence matches this word problem?                              
A group of children were at the library.  After 5 of them left, there were still six children at the library.  How many children were at the library before any of them left?  


A. 

B. 
C. 
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____+____=

____+           =____

           +____=____

____- ____=

____-           =____

· ____=____

         - 5 =  6  





11  -  5  =    





11  -          = 6  








